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Division (International) with a Helper Grid

Name:

Solve each problem.

1) 426 : 8 = 2 865 : 3 =
3 608 : 4 = 4) 189 - 9 =
5 752 : 4 = 6) 112 : 8 =

Answers
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 426 : 8 =053r2 2 865 : 3 =288r1
1. 53r2
-0 -6
42 26
2. 288r1l
- 40 -2/4
26 25 ) 152
-2 4 - 24
2 1 4 21
5 188
6 14
3 608 : 4 =152 4 189 : 9 =021
-4 -
20 8
.20 -11/8
08 09
-8 -9
0 0
5 752 : 4 =188 6) 112 : 8 =014
-4 -0
35 11
-13/2 -8
32 32
-1312 -13/2
0 0
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